
SAP ABAP table RJKSDUNSOLDLINE {IS-M: Line in Return}

RJKSDUNSOLDLINE

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKGRP [CHAR (3)]

VKBUR [CHAR (4)]

REF_VBELN [CHAR (10)]

KUNAG [CHAR (10)]

ORD_REASON [CHAR (3)]

REASON_CODE [CHAR (3)]

CURRENCY [CUKY (5)]

COND_UNIT [UNIT (3)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 RJKSDUNSOLDLINE-KUNAG = KNA1-KUNNR 

0..N

{0,1}

T000

MANDT [CLNT (3)]

 RJKSDUNSOLDLINE-MANDT = T000-MANDT 
0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RJKSDUNSOLDLINE-COND_UNIT = T006-MSEHI 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RJKSDUNSOLDLINE-CURRENCY = TCURC-WAERS 
0..N

0..N

TVAU

MANDT [CLNT (3)]

AUGRU [CHAR (3)]

 RJKSDUNSOLDLINE-ORD_REASON = TVAU-AUGRU 
0..N

0..N  RJKSDUNSOLDLINE-REASON_CODE = TVAU-AUGRU 0..N

{0,1}
TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 RJKSDUNSOLDLINE-VKGRP = TVBVK-VKGRP 

0..N
{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 RJKSDUNSOLDLINE-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 RJKSDUNSOLDLINE-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 RJKSDUNSOLDLINE-VTWEG = TVKOV-VTWEG 

0..N

1

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 RJKSDUNSOLDLINE-SPART = TVTA-SPART 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 RJKSDUNSOLDLINE-REF_VBELN = VBUK-VBELN 

0..N

{0,1}


